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1. The Hof Chocolate Problem >
Marco has — pint of hot chocolate.

He is pourlng it into cups that each hold
5 pint. How many cups can he fill?
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Think: How many

Write the division equation. !

Check your answer by writing the multiplication equation.
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2. The Honeybee Problem
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: A honeybee gathered nectar for% of bt
: an hour. It returned to the hive every 9
1i2- hour. How many trips did the bee make?
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. Think: How many s are in ?

Write the division equation.

Check your answer by writing the multiplication-equatidn.

Find the unknown factor Rewrite the equation as a division equation.
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